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Review of Basic Time-Harmonic Solution
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Boundary Condition at Load Side
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High Voltage Line Example
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Step 1. Load Transformation
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Step 2: Solve for Source-side Voltage & Current
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Step 3: Enforce Source-side Continuity
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Step 4: Solve for Forward/Backward Waves

+ V\'Y‘\ o Lin - 8 ot ot :
V= ,.L%_I V== \/'_EZ:;QH

| re 12042 KV (104=1e%) (10K _
‘ 2

= 9= kV = )i95 /=I° KV

V== 120 /°kV — (10£1) (10 k2)
2

= Ve Ry = )1 285 KV

Georgia
ETcragch
mag

copyright 2009 — all rights reserved




Step 5: Solve for Load Side Voltage & Current

Find IL_) V.
V=v(@)|; .o = VWexplipD) « V, "exp(;6D)

= [19.5/=1° -4 + 11 /85° +#5° kV
: e A— —

— g° 130
(235 -j355) +(7.0 +9.5)) kV
= 76577 = 09 L1257
Georgi
Toch
copyright 2009 — all rights reserved Em&)@

Step 5 Continued
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Step 6: Check Load Side Answer with Ohm’s Law

6) Check  What does _%:?
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